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A
Counting and understanding numbers:
	


1.
835 x 100   
[image: image1.wmf]
1 mark  (L5/1)

	


2.
Round 38.47 to the one decimal place. 
[image: image2.wmf]
1 mark  (L5/2)


3.
A sequence of numbers starts at 11 and follows the rule

‘double the last number and then subtract 3’

11       19       35       67       131 ...

The sequence continues.


The number 4099 is in the sequence.


Calculate the number which comes immediately before 4099 in the sequence.

[image: image3.wmf]Show

your .

You may get

a mark.

method


2 marks  (L5/3)

4.
Write these fractions in order of size starting with the smallest.
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smallest

1 mark  (L5/4)


	


5.
Write   ⁹⁄₁₂ in its simplest form

[image: image13.wmf]
1 mark  (L5/5)


B
Calculating
6.
Write in the missing numbers.

[image: image14.wmf]
[image: image15.wmf]
÷
21.7
=
37.5
1 mark  (L5/6)


100   –   (22.75   +   19.08)  =  [image: image16.wmf]
1 mark  (L5/6)

7.
Calculate 5% of £3600
	£


[image: image17.wmf]
1 mark  (L5/7)


8.
Calculate 248 x 23
[image: image18.wmf]Show
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You may get

a mark.

working.


2 marks  (L5/8)

9.
Circle two numbers with a difference of 8.

[image: image19.wmf]
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1 mark  (L5/9)


Write two numbers with a sum of – 6

1 mark  (L5/9)

10.
Purple paint is made by mixing blue and red paint.
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Use the picture to work out the missing numbers.


For 25 tins of purple paint you need ............... tins of blue paint


and ............... tins of red paint.

1 mark  (L5/10)

11.
Write in the missing digit.
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1 mark  (L5/11)
C
Shape, Space and Measure
12.
Here is a shape on a square grid.

    For each sentence, put a tick ([image: image24.wmf]) if it is true.  Put a cross ([image: image25.wmf]) if it is not true.


Line AD is parallel to line BC.


Line AB is perpendicular to line AD.
                                        
.


1 mark  (L5/12)
13.
Shade in one more square so that this design has rotational symmetry of order 4.


You may use tracing paper

[image: image26.wmf]
1 mark  (L5/13)


14. Work out the size of the angle marked ‘m’


                                                                                                             700
                                                                                                        


                                                                                                               m           700
..................1 mark  (L5/14)

15. Reflect triangle A in the mirror line

     You may use a mirror or tracing paper to help you.
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1 mark (L5/15)

16.
Measure angle x accurately.

Use a protractor (angle measurer).

[image: image28.wmf]
	


1 mark  (L5/16)
17.
On this scale, the arrow () shows the weight of this pineapple.
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Here is a different scale.


Mark with an arrow () the weight of the same pineapple.
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1 mark  (L5/17)

18.      A scale measures in grams and in ounces.
 Use the scale to answer this question.

About how many ounces is 1 kilogram?

Explain your answer.

    ................................................................................................................ ounces        2 marks(L5/18)
.................................................................................................................................................................................................
19.
Liam has two rectangular tiles like this.
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He makes this L shape.

[image: image32.wmf]

What is the perimeter of Liam’s L shape?

	cm


1 mark  (L5/19)


D
Data Handling
20.
David has 3 different spinners.
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David spins A 100 times and B 100 times.
The arrows on the line show how many times each spinner lands on an odd number.

He spins C 100 times.  Put an arrow on the line to show your estimate of how many times spinner C will land on an odd number.
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1 mark  (L5/20)
21.
Write a different number in each of these boxes so that the mean of the three numbers is 4
[image: image36.wmf]


1 mark  (L5/21)
22. 
	A coin has two sides, heads and tails.

(a)
Chris is going to toss a coin.

What is the probability that Chris will get heads?

  Write your answer as a fraction.
	[image: image37.png]





.......................................1 mark(L5/22)

 (b)
Dianne tossed one coin.


She got tails.


Dianne is going to toss another coin.


What is the probability that she will get tails again with her next coin?


Write your answer as a fraction.

..........................1 mark(L5/22)
23.
This pie chart shows how the children in Class 6 best like their potatoes cooked.

         32 children took part in the survey.


Look at the four statements below.


For each statement put a tick ([image: image38.wmf]) if it is correct.
Put a cross ([image: image39.wmf]) if it is not correct.

[image: image40.wmf]
10 children like chips best.
[image: image41.wmf]
25% of the children like mashed potatoes best.
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[image: image43.wmf]5

1

 of the children like roast potatoes best.
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12 children like jacket potatoes best.
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2 marks  (L5/7/23)

